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3%F 24l 54 I
{ HFEDDHDINVE 5 B
19 - 2 = HED 22 - 3 = HED
20 =+ 4 = HFED 20 +- 5 = HED
35 - 6 = HED 39 - 7 = HED
39 - 8 = HFED 59 - 9 = HED
39 - 4 = HED 47 - 5 = HED
30 = 4 = HFED 25 + 3 = HED
43 + 4 = HED 49 + 5 = HED
23 - 6 = HFED 33+ 7 = HED
55 + 8 = HED 42 - 9 = HED
23 = 8 = HFED 62 ~ 7 = HED
32 - 3 = HED 63 -~ 6 = HED
31 = 4 = HED 53 - 6 = HED
53 =+ 7 = HFED 62 -~ 8 = HED
50 +- 6 = HED 53 + 8 = HED
78 = 8 = HFED 69 +~ 7 = HED
=L X + —
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35 Bl 51 I
[ HFEDDHDINVE 5 B
19 = 2 = 8 ®3%0 3 22 - 3 = 7 »3F0 A
20 - 4 = [ »FOH 1 20 - 6 = 5 %30 4
35+ 6 = 5 »3F0 5 39 -~ 7 = 5 »3F0 4
30 - 8 = 4 »FD 7 89 - 9 = 6 ®3FV H
39 -~ 4 = O »3F0 3 47 - 6 = 9O »3FnN 2
30 - 4 = 7 ®3F0H 2 256 - 3 = 8 »x0 1
43 - 4 = 10 &30 3 40 - 5 = O »IFID 4
23 -~ 6 = 3 »FD b5 3+~ 7 = 4 30 H
55 +~ 8 = 6 »F0 7 42 - 9 = 4 »3ID 6
23 -~ 8 = 2 ®F0 7 62 -~ 7 = 8 HFD 6
32 - 3 = 10 &30 2 63 -~ 6 = 10 %0 3
31 4 = 7 I 3 53 ~ 6 = 8 »FHD 5
53 - 7 = 7 »F0D 4 62 - 8 = 7 HFID 6
89 - 6 = 9O »FD 5 53 -~ 8 = 6 »FHD 5
8+~ 8 = 9O »FD 6 69 = 7 = 9O »FIDL 6



